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Public service 

• Public service is a service which is provided by 
Government to people living within its 
jurisdiction, either directly or by financing private 
provision of services.  

• The term is associated with a social consensus 
that certain services should be available to all, 
regardless of income. Even where public services 
are neither publicly provided nor publicly 
financed, for social and political reasons they are 
usually subject to regulation going beyond that 
applying to most economic sectors.  

 



Efficiency of public service delivery 

• India could save as much as Rs 3.3 trillion in 
annual expenditures by 2025 by increasing 
public-sector efficiency by 1.11 per cent a year -- 
enough to close the gap. 
 
"Increasing public-sector efficiency gives 
government leaders an option beyond just the 
traditional choices of cutting services and raising 
revenue and, our research showed, citizens want 
government to provide services in a more cost-
effective way," 
 



Something to remember 

Cost minimisation is a sign of management 
success.  Cost cutting is a sign of management 
failure. 



Cost and Cost Terminology 

A cost object is anything for which a separate 

measurement of costs is desired. 

Example – product/service, project, dept 



Different Cost for Different 
Decisions 

 

• Traceability of cost objects 

–Direct costs and indirect costs 

• How cost behave as volume varies 

– Fixed costs, variable costs & mixed costs 



Direct and Indirect Costs 

            Direct Costs 

Example: Felt, plastic 

         Indirect Costs 

Example: Power 

     COST OBJECT 

 

  Example: DUSTER 



Traditional Costing System 

Resources 

Direct materials 

Direct labor 

Direct expenses 

 

Overhead 

 

Products/Services 

Traced directly 

Allocated Using 
DL hours, sales 

value, production 
volume 



Elements of Product/Service  Cost 

• Direct Material 
• Direct Labour 
• Direct Expenses 

 

• Indirect Material 
• Indirect Labour 
• Indirect Expenses 

 
• Direct Cost 
 

 

• +Overhead 

 
 
 

• =Total Cost 
 

Direct Cost (Power & Fuel + Rent +opex) + Admin Expenses + Interest + 

Profit = Sales 



Relationships of Types of Costs 

Direct 

Indirect 

Variable Fixed 



Price-Volume-Profit Analysis 
An Example 

Present Sales Price 5.00

Present Variable costs 2.00

Contribution Margin

Present Fixed costs 150,000      

Unit Volume

Present 150,000     

Expected with price reduction 170,000     

Profit

Present

Expected with price reduction

•What is the present profit 

•If the sales price is reduced by 10%, what will happen to profits (with no change in unit 

volume)? 

•If the sales price is reduced by 10%, what will happen to profits (with an increase in volume to 

170,000 units)? 



EFFECT OF TECHNOLOGY ON PRODUCT 
PROFITABILITY 

      PRODN/SALES

EXISTING  TECHNOLOGY

150 250 350

REVENUES 1500 2500 3500

  VARIABLE COSTS 750 1250 1750

   FIXED COSTS 1000 1000 1000

NOI -250 250 750

IMPROVED TECHNOLOGY

150 250 350

REVENUES 1500 2500 3500

  VARIABLE COSTS 450 750 1050

   FIXED COSTS 1540 1540 1540

NOI -490 210 910

SALES 40% 40%

NOI 200% 333%

DOL 5 8.325



Value Added Time 

VAT comes from the 

processing time and 

includes cost of direct 

materials and conversion 

costs.  



Value-Added versus Nonvalue-Added 
Activities 

• Value-added activities increase the worth of a 
product or service to customers. 

• They involve resource usage and related costs that 
customers are willing to pay for.   

• Value-added activities are the functions of actually 
manufacturing a product or service. 

• Examples include engineering design, machining, 
assembly, painting, and packaging. 



Value-Added versus Nonvalue-Added 
Activities 

• Nonvalue-added activities are production- or 
service-related activities that simply add cost to, or 
increase the time spent on, a product or service 
without increasing its market value. 

• Examples include the repair of machines, storage of 
inventory, moving of materials, maintenance, and 
inspections. 



WAT 

WAT consists of Set-up time (SUT), 

Inspection time (IT), Movement time 

(MT), Waiting time for the warehouse 

(WT), Storage time until sale (ST), which 

includes warehouse and distribution costs 

and other waste added cost (OT) 

denominated time like rebates, discounts, 

special deals or zero percent finance and 

sale returns.  



Free Provision of Public Services 
 

• Pure Public goods  
– Indivisible 
– Individual beneficiaries cannot be identified 

• Wastage is less if provided free 
• Pricing the service can restrict the use of the service. 
• Welfare of the community is involved 
• Cost of collecting the price is high. 
• Sewage, sweeping street, streets lighting, etc.  
• General Taxation 



 
No-Profit No-Loss Policy: 

 
• Full-cost prices cover average total costs of 

production and also yield a fair return on 
the capital investment.  

 



Marginal Cost Principle 

• Selling price equal to short-run 
marginal costs while keeping 
productive capacity constant.  

Pricing Policy # 2. Marginal Cost Pricing Rule: 
One of the aims of PSEs is to be economically 
efficient or to maximise social welfare. If a PSE 
has a monopoly in the production of a good or 
service, it will not be economically efficient 
because it produces where MC=MR. However, 
for more efficient resource allocation, it is 
essential to find out whether the PSE is 
operating under decreasing or increasing 
returns. 
If price equals MC under decreasing returns, 
the PSE will earn profits and if it is operating 
under increasing returns, the PSE will incur 
losses. Thus the application of the marginal 
cost pricing rule to PSEs has implications for 
the financial position of the enterprise. 
ADVERTISEMENTS: 
A PSE is usually in a monopolistic or semi 
monopolistic position so that its AR and MR 
curves slope downward. In such a situation, 
price (AR) is always higher than the marginal 
cost: AR (P) > MC= MR. 
In case the price is higher or lower than the 
average cost (AC), the output will not be of the 
optimum size because the enterprise will be 
earning either supernormal profits or incurring 
losses. Again, the output will not be of the 
optimum size even if the price of the product 
equals the average cost. 
To secure optimum resource allocation, the 
output of the enterprise should be increased. 
This is only possible if the marginal cost pricing 
principle is followed. 
ADVERTISEMENTS: 
This is illustrated in Fig. 1 which shows the case 
of diminishing returns or increasing costs. If 
the PSE has a monopoly, it will sell OM output 
at MP Price. This price is higher than its 
marginal cost (ME) by EP when MC=MR at 
point E. 
Enforcement of the marginal cost pricing rule 
makes MC=AR (price) at point K. Thus 
increased output MS is sold at the lower price 
SK. The figure shows that at MP Price, the 
enterprise earns AP profit per unit of output. 
This output is less than that under marginal 
cost pricing rule, OM<OS. Thus resources are 
not optimally allocated under monopoly. On 
the other hand, if the average cost pricing rule 
q is followed, AC = AR at point R. The price is 
further reduced QR which leads to excess 
demand for the product as well as in the 
resources of the enterprise. 
There is mal-allocation of resources. Thus the 
marginal cost-price combination at point К 
leads to optimal resource allocation even 
though the enterprise incurs a loss of LK per 
unit of output. To meet this loss, the 
government should compensate the enterprise 
from taxes levied on consumers of the product. 
ADVERTISEMENTS: 
If the enterprise is operating under increasing 
returns or decreasing costs, the marginal cost 
pricing principle will also lead to losses. This is 
shown in Fig. 2 where the MC curve lies below 
the AC curve throughout its length. If the 
enterprise follows the MC=MR rule, OM 
output is produced and sold at MP Price. 
It earns AP profit per unit of output. But the 
marginal cost pricing rule sets SK price and OS 
output combination at point K where MC=AR 
(Price). But it incurs a loss of KL per unit of OS 
output. However, OS is the optimum output of 
the enterprise under marginal cost pricing. 
The marginal cost price-output combination is 
also better than the price-output combination 
under the average cost pricing rule. In the 
former, the price SK<QR and output OS>OQ. 
But under the law of decreasing costs, the 
enterprise adopting the marginal cost pricing 
rule incurs KL loss per unit of output because 
the AC curve is above the AR (price) curve. 
ADVERTISEMENTS: 
But this does not follow that the enterprise 
should not follow the marginal cost pricing rule 
which gives the optimum resource allocation 
at OS output. 
Various solutions have been offered to this 
problem. Hoteling suggests that the 
government should give subsidies to such 
decreasing cost PSEs to cover the loss by 
levying lump-sum taxes. Lump-sum taxes do 
not violate the marginal conditions for 
consumers of firms. 
They will, therefore, leave economic behaviour 
unchanged. If lump-sum taxes, such as poll tax, 
cannot be levied, the two- part tariff is the 
other device to cover the loss. According to 
this, the price which is charged to a consumer 
consists of two parts. 
The first part is the price which is set equal to 
marginal cost. The second part is a lump-sum 
tax per period paid by all users. For example, 
an amusement park may charge an entrance 
fee and then separate charges for individual 
attractions such as merry-go-rounds, children’s 
train, swings, etc., as is done in the Appu Ghar 
in New Delhi. 
The fixed fee (entrance fee) is used to cover 
installation and maintenance costs and 
variable charges are imposed to pay for the 
operating costs of specific items of 
amusement. 
Limitations: 
Whichever method is adopted to cover the 
loss of a PSE attributable to marginal cost 
pricing, there are associated difficulties. 
1. Conceptual and Practical Difficulties: 
The calculation of marginal cost in the case of 
‘lumpy’ or indivisible factors is difficult to 
estimate accurately. All factors are variable in 
the long run. But ‘lumpy’ factors are fixed and 
their marginal cost is very high. For example, in 
the case of a flyover it is very high. 
But so far as its use is concerned, the marginal 
cost of using the flyover by an additional 
vehicle is very negligible. This makes the 
calculation of marginal cost a difficult work. 
2. Administrative Difficulty: 
Henderson rejects the marginal cost pricing 
principle for its administrative non-viability. 
He writes: 
“The marginal cost principle is disqualified 
from being the sole or even the main principle 
of pricing on the score of administrative 
difficulty. It fails to supply a principle which is 
clear and unambiguous.” 
3. Managerial Difficulty: 
When a PSE incurs a loss, it may not be due to 
MC pricing but the result of general X-
inefficiency. It is difficult to separate the two 
different causes by the loss in practice. 
4. Inequitable: 
The MC pricing is inequitable. When the loss of 
an enterprise is covered by general taxation, it 
is a subsidy which the users of a service or 
good get from the government. But this 
subsidy is at the expense of the non-users of 
the service who are taxed by the government. 
Thus MC pricing is inequitable. 
5. Diversion of Resources: 
When the government covers the losses of 
PSEs by giving subsidies through taxation, it 
diverts the country’s resources from other 
more productive uses. This may hamper 
economic development. 
6. Second Best Problem: 
Another problem about MC pricing for PSEs is 
of the ‘second best’. When all prices in all 
industries are equal to marginal cost, it is 
called the first best optimum. This is possible if 
every PSE follows MC pricing rule. But it is 
possible that some PSEs have a monopoly so 
that price is higher than MC and it may be 
impossible to force the price down to the MC 
level. In this case, the first best position cannot 
be attained. 
What then is the second best position, that is, 
the next best position actually achievable? 
There is no theoretical answer to this question 
because it is not possible to identify the 
precise nature of the second best solution. 
7. Adverse Effects of Taxation: 
The levying of additional taxes by the 
government for subsidization of PSEs leads to 
adverse effects on the people and the 
economy. People have to pay more in the form 
of additional taxes and their ability to save and 
work is adversely affected. 
8. Problems in Two-Part Tariff: 
The imposition of two-part tariff in the MC 
pricing rule involves certain special difficulties 
in the case of some types of public services. 
(a) Economic Loss: 
For some public utilities such as national parks, 
public zoos, amusement parks, etc., the total 
fixed costs of operations are high. For such 
services, the principle of MC pricing may lead 
to an economic loss because the revenues may 
not be high enough to recover investments in 
fixed assets. 
(b) Congestion Costs: 
The overuse of services like an amusement 
park, zoo, museum or library in the form of 
overcrowding reduces the satisfaction of the 
people who visit them. This kind of pollution 
involves congestion costs which are difficult to 
estimate. 
9. Restrictive Conditions: 
According to Prof. Graaf, the MC pricing rule 
cannot lead to an optimum position unless 
certain restrictive conditions are fulfilled. They 
are technological neutrality, no externalities, 
perfect divisibility of factors, and all PSEs to 
follow the A/C-price equality rule. But the 
fulfilment of such a large number of conditions 
is not possible. 
Hence there cannot be optimal allocation of 
resources. He, therefore, concludes that the 
only price a public enterprise of nationalized 
industry can be expected to set is what we 
may call a just price, a price which is set with 
regard for its effect on the distribution of 
wealth as well as its effect on the allocation of 
resources. 
Conclusion: 
To overcome some of the difficulties of MC 
pricing, the principle of peak-load pricing is 
suggested. According to this, the price of a 
product or service overtime is adjusted 
according to the product’s (or service’s) 
intensity of use, such as in the case of 
telephone services. 
Limitations: 
No doubt the AC pricing principle leads to no-
profit no-loss in PSEs, yet it has certain 
limitations. 
1. This pricing policy may lead to mal-
allocation of resources when consumers do 
not buy additional units at the marginal cost. 
2. If the demand (AR) curve lies below the AC 
curve throughout its length, the AC pricing will 
not give any output. The total costs will not be 
covered at all. 
3. Difficulty also arises in distributing 
appropriate depreciation over a period of time. 
 



Two-Part or Multipart Tariff: 
• Direct Costs and Overhead Costs 
• Telecommunications, power and water systems 

have large overhead costs and small direct costs. 
• Overhead costs fall as production is increased  
• Price of the service or product is revised to cover 

the cost of providing the service plus a mark-up 
leading to multipart tariff.  

• Another way is to charge a fixed annual rent 
from, say, the users of electricity and a further 
charge for the actual units consumed every 
month. 



 
Profit-Price Policy 

 
1. Large investments  

 

2. Modernisation and expansion of the 
plants in PSEs. 

 



• Finally, there is evidence that suggests 
that performance-related pay can increase 
overall effort by public officials and hence, 
improve public service delivery (Berg et 
al. 2016).  

• Measuring performance requires both 
qualitative and quantitiative criteria 
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What you 

measure is what 

you get 

It’s not what you 

expect … it’s 

what you 

inspect 

If you can 

measure it, you 

can manage it 

Measurement Communicates 

The Balanced Scorecard’s Premise Is That 
Measurement Motivates and Communicates 

Measurement Motivates 



Vision and 
Strategy 

Financial Customer Process 
Learning & 
Growth 

Objectives 

Measures 

Targets 

Initiatives 

Strategy 
Translation 
Process 


